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Ys=ana Xo+Ys=Xps, Se=X1+Xstui=a(nstns+Ns+ N+ Na+tNo),
Ys=a na. Xe=a(Ns+Ne)| se=xa+Xe=a(ns+Ns),
Ys=ans, Xi=a(N,+N; ti=y1+Yi=a(n,+Ns+Ny),
Xs=Ua, Yo=Xn +N.+Ne), t2=Yyr.=an,,
Xr=ys+xs, |Yo=a(N:i+N2)| ts=yatYe=a(ns+N:+tN:),
Ys=Xs, Xs=¥Ys | Xa=aNs, f4=y‘+Y3+111=a(ﬂt+ﬂs+Na+N4+N'l+Ns)v
Xot ve=Xa Xe=aNs tszys'*'Y4+Uz:a(n4+N3+N0+N7).
<+ (B%2-3a) - (82-3b) | te=yst+Ys=alns+Ns) - (W2-4)
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a=S/(n,+tnatnstnitnstnetn:tne see (BR3-1)
[ Xa—a(nitnstnstnd, Xe=a(nstnotnitne), S=XatXs - (B30
S=s,+t1., s:1=8S:2+t 1ty Se=8stls, $3=14, it S$+=85,+1s,

Sat tot sa=tegtss+se, tatSstseg=fr:tsatsSe, st se=fo+ 5,

ts= S0, tet S1o=811, tvt S11=512, tat$i12=S eve (B23-3)
B Ei&(a) KEE(b) Sx:X1+XA:a(nz+ﬂ3+n4+7l5+ns+7’lv+na),
Xa=x,+ 9., X=X, X:=Xa, ] s2=x2+tXe=a(ns+tnatnstnstn,+ng),

X1 =X F Y2 | Xe=Xs, Xs=Y,,] Ss=xs+tXs=a(na+ns+ne-+ns+mns),

X2= X3t ¥s.| Y1=Xe+7Y5, Sa=%e=an: Ss=2xs=a(n+ny),

Xa=Ya, Xe=Xs+Y. se=xs=a(nitn:+ns),

Ysi=Xs, Xs=X,+Ys sv=Xe=ans, Se=Xs=a(ns+ns),

Xet yga=xs,| Xa=Y2, Ye=Xu| se=Xe=a(ns+nstnq),

Ys+ xs=Xe,| ¥Ys+Xv=Xa, Sie=Xe=ans, s, 1=Xe=al{ns+nes),

Yat Xe=Yys.| Vet Xe=Xo, siz=Xs=a{ns+netny),

Yys=Xa. Ys+Xa=Xs, ti=Yyi1=an., (,=Y2=ans.

Yyi=dani, Y:=a ns, ta=yYs=anas,

Y. =an., Ya=ga ne, ta=ygatYi=a(nitns+ne+n,+ne),
Ys=amns Yi=an, ts=Y.=ans, te=Ys=ane, t+=Yi=dn«,
Ye=an. Ys=ans to=ys+Ys=a(nitnys+natn,tng)

see (#%3-3a) ee+ (#%3-3b) <o« (#%3-4)
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a=(S+T) (nitn.tns+tnitnstnetn.+tng)=5b+c

b=aS/(S+T) {AD No.1) , c=aT/(S+T) (AO No.11) oo (BR4-1)

S=54+Ss (BB (a): A No.1, O No. 11D .

Sa=b(ni+tnstnstnd, Sg=6b(ns+netnitns) - (Bed-2a)

T=Ta+Ts (BEX(b): A No.11, HO No. 1)

Ta=c(nitnr+nstnd, Te=c(nstnet+nitns) = (A4-2b)

S=s;+tt1, $:1=82+1ts, S2=8Sst+ils, $S3=17, t,=S++1,,

tat Sr=81+te, tst SatsSi2=tsa, ta=S812+ s, La=Sya,

_____ tiit Sr1=Sia, List S1at S16=5, fis=S1e « (B4-3a)

T=54t+ty, Sa=38st1ls, Ss=Satls, Ss=1ts, L2 S10a+ l10.

tet Sio=S8S1st b2, tet SatSs1=21s, Ta=Sa+ T1s, Li0= S1s,

tist Sie=S11, Liat S1atsis=T, tie=Sus e~ (j4-3b)
BN (c) BB (2) si=xi+Xi=b(ne+ns+netna),

Sa=x:+y., Sp=X.+Y., se=%x2+X,=b(ns+n.+ ns),

X1 =X2+ Y, X=Xz, Xs=Xa, | sa=x:3+Xs=0b(n.tns)

X1=Xst Y, Xs=Ys, Ys=Xa, | $1=24+Xe=b(n,+net+n),

X1=1Ys, Y.=X4+Ys, se=Xxs+Xs=b(n.+ns+nq),

Yi1=1ZXa, Xie=Xs+Ys. S12=Xe+Xe=bns, $S13=X.=6ns,

Yt Xa= x5, Xs+Xe=Ys, $1e=Xe=b(ns+nes), $16=Xe=b ns,

Yst+txs+xs=0us, | Y2=Xas+7Ye, ti=y+Y i =b(ni+ns+tnst+n.),

Ys=Sa YitX2=Xs, ta=Ys=bn,, lts=ys=1bns,

yi=bn,. Ys+XetXo=Ss | tr=v4+Y:=6(nitne). te=Ys=0bns,

ve=bm,, Ys=Xs, Ys=bns, | t:1=Ys=0bns,

ys=b na Yi=bne, Ys=bns) tis=ys+Ys=b(ni+n:+ns+nitn,),

Ya=bn, Ye=1b6ns tis=Ye=bns
cee (A%4-3a.) e (#¥4-3a,) oo (He4-4a)
BB (e) BER(S) sa=urtUi=c(nr+nstnotne),

Ta=u;+ v, Tr=U,+V\, ss=utUs=c(ns+netns),

Ur=Us, Us=Us, |Ui=Us+ V>, Se=ustUs=c{net+tna), ss=us+Ues=cC na,

Us=V,s, Us=uw, {Us=Us+ Vs, Sww=ustUsi=c(ni+ne+n),

Vi=uUst+ Vs, Us=V,, sSu=us+tUs=c(n,+n:+mn.),

Us=Us+ Vs, V.=U,, Si1s=Us=C Na, Si1e=Uz=C N5,

Vs =1us+ Us, Vet Us=Us, sir=us=c{(ns+nq).

Us+ Vs=10s, Vo+Us+Us=Vs, | te=v. +Vi=c(n,+ns+ne+n4),

Vet uqa=1us, Vi=Us, te=V,=c¢n.,

Ustuat vs=Ta | Vs=Ts te=Vs=cns ,

Us=Vs, Vs=C na, |Vi=Cn. tea=ve+Vei=c(netna),

vi=c(nstnetna),| Va=1cn, tiw=vs=cC ns,

V2=C ns, V3=C 7ns,| Va=C ns tis= V4= C ns,

V4=C ns, Vs=C n7,| Va=cC ns4 tiu=vstVs=c(ni+ne+natnetn.,
ses (BR4-3b.) ces (BB4-3e) | tis=ve=cC ns oo o (HE4-4b)
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